An excerpt from Alg2Pak V1.0, by Tamkis!

LogX


The most important program in this group, this program computes logs that have bases other than 10 (the log( function has a static base of 10.) This function really ought to be on the calculator by default, but it is not. To compute different-based logs, the following formula is used:

Log10 a

_____

Log10 b
A is the logged number of the original logarithm, B is the base


As an added bonus, the result of the program is stored in variable A. If needed, this variable can be recalled for other purposes by pushing ( ( or ((( (.

The following pictures illustrate how to compute an answer for log2 6.
Steps:

1. Launch Logx.
2. Input the logged number of the log, then the base of the unique logarithm.

3. Lastly, the calculator will give an answer!
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   Recalling a variable
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